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1. vks- ,e- vkj- mÙkj i=d bl iz”u iqfLrdk ds vanj gSA
tc vkidks funsZf”kr fd;k tk, rks Åijh lhy dks
[kksydj mÙkj iqfLrdk dks ckgj fudky ysa vkSj mlesa
fn, gq, fooj.k dks uhys@dkys cky ikWbaV isu ls
/;kuiwoZd HkjsaA

2. ijh{kk dh vof/k 120 feuV gS ,oa dqy 150 cgqfodYih;
iz”u gSaA izR;sd iz”u esa lgh mÙkj ds fy, 2 vad gSaA
izR;sd x+yr mÙkj ds fy, 0-5 vad dkVk tk,xkA

3. bl i`’B ij fooj.k vafdr djus ,oa mÙkj i= ij fu”kku
yxkus ds fy, dsoy uhys@dkys cky ikWbaV isu dk gh
iz;ksx djsaA

4. ;g lqfuf”pr dj ysa fd vks- ,e- vkj- mÙkj i=d esa Hkjh
x;h ijh{kk iqfLrdk la[;k ,oa lhjht+ ogh gS tks bl
ijh{kk iqfLrdk esa vafdr gSA

5. jQ (dPpk) dk;Z ijh{kk iqfLrdk es nh xbZ [kkyh txg
ij gh djsaA

6. lHkh mÙkj dsoy vks- ,e- vkj- mÙkj i= ij gh vafdr
djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq
OgkbVuj@jcM+@CysM dk iz;ksx fuf’k) gSA

7. ijh{kk iqfLrdk [kksyus ds rqjar ckn tk¡p djds ns[k ysa
fd iz”u i= dh i`’Bksa dh la[;k bl ist ds “kh’kZ ij
fyf[kr la[;k ds lkeku gSA ;g Hkh tk¡p ys fd ijh{kk
iqfLrdk esa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B ;k
iz”u ugha gSA ;fn ijh{kk iqfLrdk esa dksbZ deh gks rks d{k
vUrjh{kd dks fn[kkdj mlh lhjht+ dh nwljh ijh{kk
iqfLrdk izkIr dj ysaA
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Q1 ,f”k;kbZ [ksy 2018 esa efgyk 3000 m ck/kk
nkSM+ izfr;ksfxrk esa jtr ind fotsrk ^^lq/kk
flag^^ mRrj izns”k ds ftyk ________ ls
lacaf/kr gSA
(A) y[kuÅ (B) dkuiqj
(C) jk; cjsyh (D) mUuko

Q2 dc la;qDr izkar dk uke cny dj mRrj
izns”k fd;k x;k Fkk\
(A) 26 tuojh] 1950

(B) 24 tuojh] 1950

(C) 15 vxLr] 1950

(D) 2 vDVwcj] 1950

Q3 ^^dkyk ued^^ pkoy dh fdLe dks ^^,d
ftyk ,d mRikn^^ ;kstuk ds rgr mRrj
izns”k ds ________ ftys ls mRikn ds :i
esa pquk x;k gSA
(A) xksj[kiqj (B) fl)kFkZuxj
(C) vktex<+ (D) xksaMk

Q4 lwQh dfo vehj [kqljks dk tUe mRrj izns”k
ds ________ ftys eas gqvk FkkA
(A) cqyan”kgj (B) vyhx<+
(C) ,Vk (D) QStkckn

Q5 cgw csxe dk edcjk mRrj izns”k ds
________ esa fLFkr gSA
(A) y[kuÅ (B) vkxjk
(C) Qrsgiqj lhdjh (D) QStkckn

Q6 fuEufyf[kr esa ls fdl izfl) Hkkjrh; “kkL=h;
xkf;dk dks mlds f”k’;ksa n~okjk I;kj ls ̂ ^vIik
th^^ cqyk;k tkrk Fkk\
(A) fxfjtk nsoh
(B) fd”kksjh vkeksudj
(C) olqa/kjk dksedkyh
(D) ghjkckbZ ckjksMdj

Q7 mRrj izns”k ds orZeku eq[;ea=h ;ksxh
vkfnR;ukFk ________ laiznk; ls lacaf/kr
gSA
(A) ukxk (B) ukFk
(C) dkyeq[k (D) ek/ko

Q1 Long distance runner Sudha Singh won

Silver in the women’s 3000 m steeplechase

event  at  the Asian  Games  2018.  She

belongs  to  _______  district  of  Uttar

Pradesh.

(A) Lucknow (B) Kanpur

(C) Raebareli (D) Unnao

Q2 The  United Provinces  was  renamed  as

Uttar Pradesh on ______,

(A) 26 January 1950

(B) 24 January 1950

(C) 15 August 1950

(D) 2 October 1950

Q3 In February 2018,  the ______district of

Uttar Pradesh selected ‘Kala namak’ rice

as a product under the “One district One

product” scheme.

(A) Gorakhpur (B) Siddharth Nagar

(C) Azamgarh (D) Gonda

Q4 Sufi  poet Amir  Khusrau  was  born  in

______ district of Uttar Pradesh.

(A) Bulandshahar (B) Aligarh

(C) Etah (D) Faizabad

Q5 The Tomb of Bahu Begum is situated at

______ in Uttar Pradesh.

(A) Lucknow (B) Agra

(C) Fatehpur Sikri (D) Faizabad

Q6 Which  of  the  following  famous  Indian

classical singers was fondly called “Appa

ji” by her disciples?

(A) Girija Devi

(B) Kishori Amonkar

(C) Vasundhara Komkali

(D) Hirabai Barodekar

Q7 To which sect does Yogi Adityanath, the

current chief minister of Uttar Pradesh,

belong?

(A) Naga (B) Nath

(C) Kalamukha (D) Madhava

GENERAL KNOWLEDGE
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Q8 mRrj izns”k ds fuEufyf[kr ftyksa esa ls fdldh
lhek usiky ds lkFk yxrh gS\
(A) xksj[kiqj (B) egkjktxat
(C) cfy;k (D) cLrh

Q9 fuEufyf[kr esa ls dkSu ls fl[k xq# us 1699

esa [kkylk iaFk dh LFkkiuk dh Fkh\ [kkylk
fu’Bkoku leqnk; gS] ftlus vius fo”okl ds
n`”; izrhdksa dks igurs gSa vkSj ;ks)kvksa dh
rjg izf”kf{kr gqvkA
(A) Jh xq# rsx cgknqj
(B) Jh xq# gj xksfcUn
(C) Jh xq# gj Ñ’.k
(D) Jh xq# xksfcan flag

Q10 foRrh; o’kZ 2017-18 ds nkSjku Hkkjrh; fjt+oZ
cSad n~okjk yxHkx ukS o’kksZ esa lksus dh igyh
[kjhn esa [kjhns x, lksus dh ek=k fdruh gS\
(A) 2.46 ehfVªd Vu
(B) 4.46 ehfVªd Vu
(C) 6.46 ehfVªd Vu
(D) 8.46 ehfVªd Vu

Q11 fdl fl[k xq# us fl[k fookg lekjksg dh
“kq:vkr ^vkuan dkjt^ ds uke ls dh Fkh\
(A) Jh xq# ukud nso
(B) Jh xq# vej nkl
(C) Jh xq# xksfcan flag
(D) Jh xq# jke nkl

Q12 lkaf[;dh vkSj dk;ZØe dk;kZUo;u ea=ky;
n~okjk 2016-17 ds fy, fn, x, ckxokuh
vkadM+ksa ds vuqlkj lcls cM+k Qy mRiknd
Hkkjrh; jkT; dkSu lk gS\
(A) vka/kz izns”k
(B) xqtjkr
(C) dukZVd
(D) e/; izns”k

Q13 foRrh; o’kZ 2017-18 ds nkSjku Hkkjr ds O;kikj
?kkVs dh yxHkx jkf”k D;k Fkh\
(A) $126.80 fcfy;u
(B) $136.80 fcfy;u
(C) $146.80 fcfy;u
(D) $156.80 fcfy;u

Q8 Which of the following districts of Uttar

Pradesh shares its boundary with Nepal?
(A) Gorakhpur (B) Maharajganj
(C) Balia (D) Basti

Q9 Which of the following Sikh gurus created
the  Khalsa  (The  Pure  Ones)  in  1699?
Khalsa was a community of  the faithful
who wore visible symbols of their faith and
trained as warriors.
(A) Guru Tegh Bahadur
(B) Guru Har Gobind
(C) Guru Har Krishan
(D) Guru Gobind Singh

Q10 State the quantity of gold bought by the
Reserve Bank of India during the financial
year 2017-18 in its first purchase of gold
in almost nine years.
(A) 2.46 metric tonnes
(B) 4.46 metric tonnes
(C) 6.46 metric tonnes
(D) 8.46 metric tonnes

Q11 Which  Sikh  guru  introduced  the  Sikh
marriage  ceremony  known  as  ‘Anand
Karaj’?
(A) Guru Nanak Dev
(B) Guru Amar Das
(C) Guru Gobind Singh
(D) Guru Ram Das

Q12 Which was the largest fruit producing state
of  India  in  the  year  2016-17  as  per
horticulture statistics by  the Ministry of
Statistics and Programme Implementation?
(A) Andhra Pradesh
(B) Gujarat
(C) Karnataka
(D) Madhya Pradesh

Q13 What  was  the  approximate  amount  of
India’s  trade deficit during  the  financial
year 2017-18?
(A) $126.80 billion
(B) $136.80 billion
(C) $146.80 billion

(D) $156.80 billion
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Q14 fuEu esa ls dkSu ;k dFku lgh gS\
(A) 1975 esa vkikrdky ds le; xqyt+kjh

yky uank Hkkjr ds iz/kku ea=h FksA
(B) 1975 esa vkikrdky ds le; bafnjk

xka/kh  Hkkjr dh iz/kku ea=h FkhaA
(C) 1975 esa vkikrdky ds le; pj.k

flag Hkkjr ds iz/kku ea=h FksA
(D) 1975 esa vkikrdky ds le; eksjkjth

nslkbZ Hkkjr ds iz/kku ea=h FksA

Q15 fuEufyf[kr esa ls dkSu lk lgh feyku gS\
(A) vuqPNsn 19 (e) – la?k cukus dk

vf/kdkj
(B) vuqPNsn 19 (b) – fdlh is”ks dk vH;kl

djus dk vf/kdkj
(C) vuqPNsn 19 (a) – Hkk’k.k vkSj vfHkO;fDr

dh Lora=rk dk vf/kdkj
(D) vuqPNsn 19 (g) – “kafriwoZd vkSj gfFk;kjksa

ds fcuk bdëk gksus dk vf/kdkj

Q16 fuEu esa ls dkSu lk xyr gS\
(A) jkT;iky jk’Vªifr n~okjk fu;qDr fd;k

tkrk gSA
(B) jk’Vªifr ds izlkni;Zar jkT;iky dk

dk;Zdky jgrk gSA
(C) jkT;iky jk’Vªifr dks viuk R;kxi=

lkSairk gSA
(D) 30 o’kZ dh vk;q dk O;fDr jkT;iky

cu ldrk gSA

Q17 Hkkjr ds dsaUnzh; jsy ea=h dks ________ dh
lykg ij ________ n~okjk fu;qDr fd;k
tkrk gSA
(A) iz/kkuea=h; jk’Vªifr
(B) jk’Vªifr; iz/kkuea=h
(C) jk’Vªifr; yksdlHkk ds v/;{k
(D) mijk’Vªifr; iz/kkuea=h

Q14 Which  of  the  following  statements  is

correct?

(A) Gulzari Lal Nanda was the Prime

Minister of India at the time of

emergency in 1975.

(B) Indira Gandhi was the Prime Minister

of India at the time of emergency in

1975.

(C) Charan Singh was the Prime Minister

of India at the time of emergency in

1975.

(D) Morarji Desai was the Prime Minister

of India at the time of emergency in

1975.

Q15 Which  of  the  following  is  correctly

matched?

(A) Article 19 (e) – Right to form

associations

(B) Article 19 (b) – Right to practice any

profession

(C) Article 19 (a) – Right to freedom of

speech and expression

(D) Article 19 (g) – Right to assemble

peaceably and without arms

Q16 Which  of  the  following  statements  is

INCORRECT?

(A) The Governor is appointed by the

President.

(B) The Governor holds office during the

pleasure of the President.

(C) The Governor submits his resignation

to the President.

(D) A person of the age of 30 years can

become the Governor.

Q17 The Railway Minister of the Indian Union

is appointed by the ______ on the advice

of the ______.

(A) Prime Minister; President

(B) President; Prime Minister

(C) President; Speaker of the Lok Sabha

(D) Vice-President; Prime Minister
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Q18 fuEu esa ls dkSu lk lgh gS\
(A) tkfdj gqlSu Hkkjr ds igys eqfLye

jk’Vªifr FksA
(B) eksgEen fgnk;rqYyk Hkkjr ds igys

eqfLye jk’Vªifr FksA
(C) Q[k#Ìhu vyh vgen Hkkjr ds igys

eqfLye jk’Vªifr FksA
(D) ,-ih-ts- vCnqy dyke Hkkjr ds igys

eqfLye jk’Vªifr FksA

Q19 fuEufyf[kr esa ls dkSu lh tkWMZu dh
jkt/kkuh gS\
(A) t+d+Z (B) bfcZM
(C) lkYV (D) vEeku

Q20 fuEufyf[kr esa ls dkSu lh eaxksfy;k dh eqnzk
gS\
(A) fy;w (B) rksxjksx
(C) D;kr (D) esfVdy

Q21 ,f”k;k esa rhljk lcls vf/kd vkcknh okyk
ns”k dkSu lk gS\
(A) bjkd (B) ckaXykns”k
(C) tkWMZu (D) baMksusf”k;k

Q22 fuEufyf[kr nf{k.kh vesfjdh jk’Vªkssa esa ls fdlesa
nf{k.kh vesfjdh {ks= dk lcls cM+k ou {ks=
gS\
(A) xq;kuk (B) czkt+hy
(C) dksyfEc;k (D) bDosMksj

Q23 fuEufyf[kr esa ls izk;}hih; Hkkjr dh lcls
cM+h unh dkSu lh gS\
(A) egkunh (B) xksnkojh
(C) Ñ’.kk (D) dkosjh

Q24 la;qDr jk’Vª n~okjk ekuokf/kdkjksa dh lkoZHkkSfed
?kks’k.kk dks fpfºur djus ds fy, gj o’kZ
fdl frfFk dks varjkZ’Vªh; ekuokf/kdkj fnol
euk;k tkrk gS\
(A) 10 flracj
(B) 10 vDVwcj
(C) 10 uoacj
(D) 10 fnlacj

Q18 Which  of  the  following  statements  is

correct?

(A) Zakir Husain was the first Muslim

president of India.

(B) Mohammad Hidayatullah was the

first Muslim president of India.

(C) Fakhruddin Ali Ahmed was the first

Muslim president of India.

(D) APJ Abdul Kalam was the first

Muslim president of India.

Q19 Which of the following is the capital of

Jordan?

(A) Zarqa (B) Irbid

(C) Salt (D) Amman

Q20 Which of the following is the currency of

Mongolia?

(A) Leu (B) Togrog

(C) Kyat (D) Metical

Q21 Which of the following is the third most

populated country in Asia?

(A) Iraq (B) Bangladesh

(C) Jordan (D) Indonesia

Q22 Which of the following nations of South

America has the largest forest area in the

South American region?

(A) Guyana (B) Brazil

(C) Colombia (D) Ecuador

Q23 Which among the following is the largest

river of Peninsular India?

(A) Mahanadi (B) Godavari

(C) Krishna (D) Kaveri

Q24 When is International Human Rights Day

celebrated  every  year  to  mark  the

proclamation of Universal Declaration of

Human Rights by the United Nations?

(A) 10th September

(B) 10th October

(C) 10th November

(D) 10th December

www.prepp.in



7 SET-B01

Q25 tqykbZ] 2018 esa vejukFk eafnj dh rhFkZ
;k=k djus okys ;kf=;ksa dh lgk;rk ds fy,
lhvkjih,Q n~okjk “kq: fd, x, eksckby
lgk;rk dsanz dk uke D;k gS\
(A) nksLr (B) lkFkh
(C) ;k=h (D) fe=

Q26 vxys lkr o’kksZa ds fy, fuEufyf[kr ns”kksa esa
ls fdlds lkFk Hkkjr us vDVwcj 2016 esa
viuh O;kikj laf/k dks uohuhÑr dj fn;k
gS\
(A) HkwVku (B) E;kaekj
(C) usiky (D) cakXykns”k

Q27 ,f”k;kbZ [ksy 2018 esa ind rkfydk esa “kh’kZ
jgus okys phu us fdrus Lo.kZ ind thrs Fks\
(A) 102 (B) 112

(C) 122 (D) 132

Q28 varjkZ’Vªh; U;k;ky; fdl ns”k esa fLFkr gS\
(A) uhnjySaM
(B) la;qDr jkT; vesfjdk
(C) ;wukbVsM fdaxMe
(D) teZuh

Q29 isM+@ikS/kksa esa] fu’kspu ds ckn vaMk”k; ifjofrZr
______ gksrk gS%
(A) cht esa (B) iq’i&dslj esa
(C) tk;kax esa (D) Qy esa

Q30 {kfrxzLr lh-,Q-,y- vkSj ¶yksjkslsaV V~;wcksa
dk fuiVku lqjf{kr :i ls fd;k tkuk pkfg,
D;ksafd buesa ______ ok’i gksrh gS tks LoHkko
esa tgjhyh gksrh gSA
(A) veksfu;e dh
(B) lYQj MkbvkWDlkbM dh
(C) ukbVªkstu MkbvkWDlkbM dh
(D) ikjs dh

Q31 ikS/ks esa ikuh vkSj iks’kd rRoksa ds ifjogu ds
fy, laoguh Ård dks _____ dgk tkrk gSA
(A) ¶yks,e (B) dksysudkbek
(C) tkbye (D) LDysjsudkbek

Q25 What is the name of the mobile help centre

launched by CRPF in July 2018 to help

the travellers going on pilgrimage to the

Amarnath shrine?

(A) Dost (B) Saathi

(C) Yaatri (D) Mitra

Q26 With which of the following countries did

India  renew her  trade  treaty  in October

2016 for the next seven years?

(A) Bhutan (B) Myanmar

(C) Nepal (D) Bangladesh

Q27 How  many  gold  medals  were  won  by

China, who topped the medal tally in the

Asian Games 2018?

(A) 102 (B) 112

(C) 122 (D) 132

Q28 In which country is the International Court

of Justice located?

(A) Netherlands

(B) United States of America

(C) United Kingdom

(D) Germany

Q29 In plants/trees, after fertilisation the ovary

matures to form the:

(A) Seed (B) Stamen

(C) Pistil (D) Fruit

Q30 Damaged  CFLs  and  fluorescent  tubes

should be disposed off safely because they

contain ______ vapour, which is toxic in

nature.

(A) Ammonium

(B) Sulphur dioxide

(C) Nitrogen dioxide

(D) Mercury

Q31 The vascular tissue that transports water

and nutrients in plants is called the ______.

(A) Phloem (B) Collenchyma

(C) Xylem (D) Sclerenchyma
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Q32 fuEufyf[kr fodYiksa esa ls] iqu#Riknd cht
mRiknu ikS/ks dk uke pqusa%
(A) xasnk
(B) czsM eksYM
(C) vkyw
(D) vnjd

Q33 fdlh Hkh izkÑfrd dPps eky ¼ikS/ks ;k tkuoj
ls½ ds fcuk cuk;k x;k ,d ekuo fufeZr
QkbcjA ;g dks;ys] ikuh vkSj gok ls rS;kj
fd;k x;k FkkA ;g igyk iw.kZ flaFksfVd
Qkbcj FkkA ;g gS%
(A) tSo IykfLVd (B) uk;ykWu
(C) js;ku (D) ikWfyfLVjhu

Q34 fo”o fganh fnol  _____dks euk;k tkrk
gSA
(A) 10 tuojh (B) 15 tuojh
(C) 17 tuojh (D) 17 fnlacj

Q35 _______us vf/kxzfgr pfj= dh fojklr ds
fl)kar dks izfrikfnr fd;k A
(A) thu&cSifVLV ySekj~d
(B) vXLV okbteSu
(C) xzsxksj esaMsy
(D) pkYlZ MkfoZu

Q36 ^jhcwfVax bafM;k% jh;ykbZftax , fcfy;u
,fLijs”kal^ uked iqLrd ds ys[kd dkSu gSa\
(A) lR;kFkZ tks”kh (B) uanu uhysd.kh
(C) jru VkVk (D) fo”kky flDdk

Q37 iw.kZ :i ls th-,l-Vh- dh flQkfj”k ______

n~okjk dh xbZ FkhA
(A) jktk psyS;k lfefr
(B) fot; dsYdj VkLd QkslZ
(C) th-,l-Vh- ifj’kn
(D) eueksgu flag vk;ksx

Q38 Hkkjr dk igyk lkbcj iqfyl LVs”ku______

eas LFkkfir fd;k x;k FkkA
(A) dksfPp (B) ubZ fnYyh
(C) csaxyq# (D) psUubZ

Q32 Out of the following options, choose the

name of a spore-producing plant:

(A) Marigold

(B) Bread mould

(C) Potato

(D) Ginger

Q33 Which of the following is a man-made fibre

that was made without using any natural

raw material (from plant or animal)? It was

prepared from coal, water and air. It was

the first fully synthetic fibre.

(A) Bioplastic (B) Nylon

(C) Rayon (D) Polystyrene

Q34 World Hindi Day is celebrated on ______.

(A) 10 January (B) 15 January

(C) 17 January (D) 17 December

Q35 ______  propounded  the  inheritance  of

acquired character.

(A) Jean-Baptiste Lamarck

(B) August Weismann

(C) Gregor Mendel

(D) Charles Darwin

Q36 Who  is  the  author  of  the  book  titled

‘Rebooting  India:  Realizing  a  Billion

Aspirations’?

(A) Satyarth Joshi (B) Nandan Nilekani

(C) Ratan Tata (D) Vishal Sikka

Q37 Full-fledged GST was recommended by

______.

(A) Raja Chelliah committee

(B) Vijay Kelkar Task Force

(C) GST Council

(D) Manmohan Singh Commission

Q38 India’s first cyber police station was set

up in ______.

(A) Kochi (B) New Delhi

(C) Bengaluru (D) Chennai
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Q39 fuEu fn, x, lehdj.k dks gy djsaA

48 ÷ [35 – {30 – (31 – 26 ÷ 2 x 4)}] = ?

(A) – 2 (B) – 3

(C) – 4 (D) – 8

Q40 fuEu fn, x, lehdj.k dks gy djsaA

143 + 14.3 + 1.43 + 0.143 + 0.0143 = ?

(A) 158.8783 (B) 158.8863

(C) 158.8683 (D) 158.8873

Q41
7

16
vkSj 

7

48
dk ;ksxQy fdruk gksxk\

(A)
14

48

(B)
14

64

(C)
7

12

(D)
7

32

Q42 lcls cM+h 4 vadkas okyh la[;k D;k gS] tks 15]

25 vkSj 35 esa ls izR;sd n~okjk foHkkftr djus

;ksX; gS\

(A) 9975 (B) 9925

(C) 9875 (D) 9825

Q43 150] 225 vkSj 375 dk e-l-i- fdruk gksxk\

(A) 15 (B) 25

(C) 75 (D) 125

Q44 uhps nh xbZ la[;kvksa esa ls dkSu lh la[;k 24

ls iwjh rjg foHkkftr djus ;ksX; gS\

(A) 14744

(B) 28856

(C) 43976

(D) 57528

Q39 Solve the following equation:

48 ÷ [35 – {30 – (31 – 26 ÷ 2 x 4)}] = ?

(A) – 2 (B) – 3

(C) – 4 (D) – 8

Q40 Solve the following equation:

143 + 14.3 + 1.43 + 0.143 + 0.0143 = ?

(A) 158.8783 (B) 158.8863

(C) 158.8683 (D) 158.8873

Q41 What is the sum of 
7

16
and

7

48
\

(A)
14

48

(B)
14

64

(C)
7

12

(D)
7

32

Q42 What is the largest four-digit number that

is divisible by each of 15, 25 and 35?

(A) 9975 (B) 9925

(C) 9875 (D) 9825

Q43 What is the HCF of 150, 225 and 375?

(A) 15 (B) 25

(C) 75 (D) 125

Q44 Which  of  the  numbers  given  below  is

exactly divisible by 24?

(A) 14744

(B) 28856

(C) 43976

(D) 57528

NUMERICAL ABILITY
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Q45 ;fn la[;k 164 dks 32 % 9 ds vuqikr esa

foHkkftr fd;k tkrk gS] rks NksVs Hkkx dk

eku fdruk gksxk\

(A) 45 (B) 36

(C) 54 (D) 27

Q46 fdlh izos”k ijh{kk esa vgZrk izkIr djus ds

fy, vf/kdre 600 eas ls 522 vadksa dh

vko”;drk gksrh gSA izfr”kr esa dV vkWQ

D;k gS\

(A) 87 (B) 88

(C) 85 (D) 86

Q47 @ 8% dh okf’kZd lk/kkj.k C;kt nj ij 5

o’kZ esa ` 1980 dk C;kt fdruk gksxk\

(A) ` 891 (B) ` 829

(C) ` 796 (D) ` 792

Q48 15% ds ykHk vkSj 9% dh gkfu ds chp dk

varj ̀  768 gSA ;gka ftldh ckr dh tk jgh

gS] ml oLrq dk ykxr ewY; fdruk gS\

(A) ` 2640 (B) ` 2880

(C) ` 3200 (D) ` 3440

Q49 ,d f[kykSus dk vafdr ewY; ` 1800 FkkA
fcØh ds nk Sjku 20% vkSj 15% dh
flyflysokj nks NwVsa nh xbZaA f[kykSus dk
foØ; ewY; fdruk gksxk\
(A) ` 1202 (B) ` 1224

(C) ` 1170 (D) ` 1230

Q50 rksj”kk us ` 2250 ds lkFk ,d dkjksckj “kq:
fd;k] tcfd dqN eghuksa ds ckn f=”kk us
` 2880 dk fuos”k dj fn;kA ;fn 12-eghuksa
ds var ¼rksj”kk ds fuos”k ds le; ls½ ykHk
dks rksj”kk vkSj f=”kk n~okjk 25 : 24 ds vuqikr
esa ckaVk tkrk gS] rks f=”kk us fdrus eghuksa ds
fy, fuos”k fd;k Fkk\
(A) 7 (B) 8

(C) 9 (D) 10

Q45 If 164 is divided in the ratio 32 : 9, what

is the value of the smaller part?

(A) 45 (B) 36

(C) 54 (D) 27

Q46 In an entrance test one requires 522 marks

out of a maximum of 600 to qualify. What

is the cut-off in percentage terms?

(A) 87 (B) 88

(C) 85 (D) 86

Q47 What will be the interest earned on ̀  1980

in five years @ 8% simple  interest per

annum?

(A) ` 891 (B) ` 829

(C) ` 796 (D) ` 792

Q48 The difference between a gain of 15% and

a loss of 9% is ` 768. What is the cost

price  of  the  item  under  consideration

here?

(A) ` 2640 (B) ` 2880

(C) ` 3200 (D) ` 3440

Q49 The marked price of a toy was ` 1800.

Two  successive discounts  of 20%  and

15%  were  offered  on  it  during  a  sale.

What was the selling price of the toy?

(A) ` 1202 (B) ` 1224

(C) ` 1170 (D) ` 1230

Q50 Torsha  started  a  business with `  2250

while Trisha invested ` 2880 after a few

months.  If  the  end-of-12-months  (from

Torsha’s investment) profit is shared by

Torsha and Trisha in the ratio 25 : 24, for

how  many  months  did  Trisha  stay

invested?

(A) 7 (B) 8

(C) 9 (D) 10
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Q51 ,d lqcg oSnsgh vius ?kj ls dk;kZy; lkbfdy
ij 15 km/hr dh xfr ls xbZ ysfdu cgqr
vf/kd ;krk;kr ds dkj.k okilh esa mldh
xfr 10 km/hr jghA nks&rjQk ;k=k ds fy,
vkSlr xfr fdruh Fkh\
(A) 12.4 km/hr

(B) 12.5 km/hr

(C) 12.25 km/hr

(D) 12 km/hr

Q52 ;fn x : 9 :: 5 : y, rks xy = ?

(A)
5

9

(B) 45

(C)
9

5

(D) 3 5

Q53 ` 800 dks 10% dh okf’kZd pØo`f) C;kt
nj ij fuos”k fd;k tkrk gS] rks nks o’kZ esa
vftZr C;kt dh jkf”k fdruh gksxh\
(A) ` 162

(B) ` 160

(C) ` 166

(D) ` 168

Q54 ukS ikbi ,d VSad ls tqM+s gq, gSa] ftuesa ls
dqN ikbi VSad dks [kkyh dj jgs gSa vkSj dqN
ikbi VSad dks Hkj jgs gSaA izR;sd Hkjus okyk
ikbi [kkyh VSad dks 24 ?kaVksa eas Hkj ldrk gS]
tcfd izR;sd [kkyh djus okyk ikbi 18
?kaVs esa iwjh rjg ls VSad dks [kkyh dj ldrk

gSA ;fn VSad iwjh rjg Hkjk gqvk gS vkSj lHkh

ikbi ,d lkFk [kksys tkrs gSa] rks VSad 9 ?kaVs

esa [kkyh gks tkrk gSA VSad dks [kkyh djus

okys ikbiksa dh la[;k gS%

(A) 6

(B) 5

(C) 4

(D) 3

Q51 One  morning Vaidehi  cycled  from  her

house to her office at 15 km/hr but owing

to heavy traffic could return from her office

at 10 km/hr. What was the average speed

for the two-way trip?

(A) 12.4 km/hr

(B) 12.5 km/hr

(C) 12.25 km/hr

(D) 12 km/hr

Q52 If x : 9 :: 5 : y, then xy = ?

(A)
5

9

(B) 45

(C)
9

5

(D) 3 5

Q53 What would be the interest accrued in two

years if ` 800 is invested @ 10% interest

compounded annually?

(A) ` 162

(B) ` 160

(C) ` 166

(D) ` 168

Q54 Nine pipes are attached to a tank, of which

some are  emptying  pipes  and  some  are

filling pipes. Each filling pipe can fill the

empty  tank  in  24  hours,  while  each

emptying pipe can empty the fully filled

up tank in 18 hours. If the tank is full and

all the pipes are opened simultaneously,

the  tank  is  emptied  after  9  hours. The

number of emptying pipes is:

(A) 6

(B) 5

(C) 4

(D) 3
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Q55 Sarthak can fill a sandpit with sand in 14

days while Vivan takes 35 days to fill it.

Ali can empty all of the sand from a filled

sandpit  in  12  days.  If  all  three  start

working when  the pit  is empty,  in how

many days will the sandpit be full again?

(A) 60

(B) 61

(C) 62

(D) 56

Q56 Manmath rowed a distance downstream

in 7.5 hours while it took him 10.5 hours

to  row  the same distance upstream. To

make the two-way journey in still water,

how many hours will it take him?

(A)
1

18
4

(B) 18

(C)
1

17
3

(D)
3

17
4

Q57 A train, travelling @ 67.5 km/hr passes a

pole in 9 seconds and a platform in 29

seconds.  What  is  the  length  of  the

platform?

(A) 400 m

(B) 375 m

(C) 380 m

(D) 350 m

Q55 lkFkZd 14 fnuksa esa jsr ds ,d xM~<s dks Hkj

ldrk gS tcfd fooku dks bls Hkjus ds fy,

35 fnu yxrs gSaA vyh 12 fnuksa esa ,d Hkjs

gq, jsr ds xM~<s dh iwjh [kkyh dj ldrk

gSA ;fn [kkyh xM~<s esa rhuksa ,d lkFk dk;Z

“kq: djrs gSa] rks jsr dk xM~<k fQj ls fdrus

fnuksa esa Hkj tk,xk\

(A) 60

(B) 61

(C) 62

(D) 56

Q56 eUer /kkjk ds lkFk 7-5 ?kaVs essa ,d nwjh r;

djrk gS] tcfd /kkjk ds foijhr ogh nwjh

r; djus esa mls 10-5 ?kaVs yxrs gSaA “kkar

ikuh esa nks&rjQk ;k=k djus ds fy,] mls

fdrus ?kaVs yxsaxs\

(A)
1

18
4

(B) 18

(C)
1

17
3

(D)
3

17
4

Q57 ,d Vªsu] ftldh xfr 67.5 km/hr gS] 9

lsdaM eas ,d [kaHkk vkSj 29 lsdaM esa ,d

IysVQ+keZ ikj djrh gSA IysVQ+keZ dh yackbZ

fdruh gS\

(A) 400 m

(B) 375 m

(C) 380 m

(D) 350 m
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Q58 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

Kuwait : Dinar :: Turkey : ?

(A) Rial

(B) Kyat

(C) Yen

(D) Lira

Q59 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

Affirm : Deny :: Create : ?

(A) Make

(B) Use

(C) Destroy

(D) Worst

Q60 Owl is related to Flit in the same way as

Lamb is related to:

(A) Frisk

(B) Strut

(C) Fly

(D) Prowl

Q61 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

Owl : Hoot :: Goat : ?

(A) Bleat

(B) Beat

(C) Quack

(D) Roar

Q62 RST is related to 181920 in the same way

as GHI is related to:

(A) 8910

(B) 7611

(C) 789

(D) 7810

Q58 fn, x, fodYiksa esa ls ml in dk p;u djsa]

tks rhljs in ls mlh izdkj lacaf/kr gS] ftl

izdkj nwljk in igys in ls lacaf/kr gS%

dqoSr % fnukj % % rqdhZ % \

(A) fj;ky

(B) D;kr

(C) ;su

(D) yhjk

Q59 fn, x, fodYiksa esa ls ml in dk p;u djsa]

tks rhljs in ls mlh izdkj lacaf/kr gS] ftl

izdkj nwljk in igys in ls lacaf/kr gS%

iqf’Vdj.k % vLohdj.k % % l`tu % \

(A) cukuk

(B) mi;ksx

(C) u’V

(D) fuÑ’Vre

Q60 ftl izdkj ^mYyw^ ^mM+us^ ls lacaf/kr gS] mlh

izdkj ^eseus^ ls lacaf/kr gS %

(A) ØhM+k djuk

(B) vdM+

(C) mM+uk

(D) fNiuk

Q61 fn, x, fodYiksa esa ls ml in dk p;u djsa]

tks rhljs in ls mlh izdkj lacaf/kr gS] ftl

izdkj nwljk in igys in ls lacaf/kr gS%

mYyw % gwgw % % cdjh % \

(A) fefe;kuk

(B) /kM+duk

(C) dka&dka

(D) ngkM+uk

Q62 ‘RST’ ‘181920’ ls ftl izdkj lacaf/kr gS]

mlh izdkj ‘GHI’ fdl ls lacaf/kr gS\

(A) 8910

(B) 7611

(C) 789

(D) 7810

MENTAL ABILITY
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Q63 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

ER : VI :: JQ : ?

(A) DF

(B) QJ

(C) KM

(D) IR

Q64 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

BCE : 10 :: KMQ : ?

(A) 31

(B) 41

(C) 111317

(D) 111217

Q65 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

Butterfly : Insect :: Snake : ?

(A) Cobra

(B) Python

(C) Reptile

(D) Rodent

Q66 Identify  the  next  term  in  the  following

letter series:

AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

Q67 Identify the next term in the given letter

series:

C, E, G, K, M, ?

(A) P

(B) Q

(C) R

(D) S

Q63 fn, x, fodYiksa esa ls ml in dk p;u djsa]
tks rhljs in ls mlh izdkj lacaf/kr gS] ftl
izdkj nwljk in igys in ls lacaf/kr gS%
ER : VI :: JQ : ?

(A) DF

(B) QJ

(C) KM

(D) IR

Q64 fn, x, fodYiksa esa ls ml in dk p;u djsa]
tks rhljs in ls mlh izdkj lacaf/kr gS] ftl
izdkj nwljk in igys in ls lacaf/kr gS%
BCE : 10 :: KMQ : ?

(A) 31

(B) 41

(C) 111317

(D) 111217

Q65 fn, x, fodYiksa esa ls ml in dk p;u djsa]
tks rhljs in ls mlh izdkj lacaf/kr gS] ftl
izdkj nwljk in igys in ls lacaf/kr gS%
frryh % dhV % % lkai % \
(A) dkscjk
(B) vtxj
(C) ljhl̀i
(D) Ñard

Q66 fuEufyf[kr v{kj J`a[kyk esa vxys “kCn dh
igpku djsa%
AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

Q67 fuEufyf[kr v{kj J`a[kyk esa vxys “kCn dh
igpku djsa%
C, E, G, K, M, ?

(A) P

(B) Q

(C) R

(D) S
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Q68 Identify the missing term in the following

letter series:

K, O, S, ?

(A) T

(B) U

(C) V

(D) W

Q69 Identify the missing term in the following

number series:

11, 22, 44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

Q70 Identify the missing term in the following

number series:

13, 4, 26, 8, 52, 7, 104, ?

(A) 4

(B) 5

(C) 6

(D) 7

Q71 Identify  the  next  term  in  the  following

number series:

220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

Q72 Identify the next term in the given series:

156, 272, 342, ?

(A) 506

(B) 529

(C) 560

(D) 592

Q68 fuEufyf[kr v{kj J`a[kyk esa yqIr v{kj dh

igpku djsa%

K, O, S, ?

(A) T

(B) U

(C) V

(D) W

Q69 fuEufyf[kr la[;k J`a[kyk esa yqIr la[;k dh

igpku djsa%

11, 22, 44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

Q70 fuEufyf[kr la[;k J`a[kyk esa yqIr la[;k dh
igpku djsa%
13, 4, 26, 8, 52, 7, 104, ?

(A) 4

(B) 5

(C) 6

(D) 7

Q71 fuEufyf[kr la[;k J̀a[kyk esa vxyh la[;k
dh igpku djsa%
220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

Q72 fuEufyf[kr la[;k J̀a[kyk esa vxyh la[;k
dh igpku djsa%
156, 272, 342, ?

(A) 506

(B) 529

(C) 560

(D) 592
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Q73 If South-East becomes North, North-East

becomes West and so on, what will South

become?

(A) East

(B) North-East

(C) South-West

(D) West

Q74 Atul walks 5 km toward North and then

turns to the right. After walking 3 km he

turns to the right and walks 5 km. How far

away is he from his starting position?

(A) 3 km

(B) 4 km

(C) 5 km

(D) 13 km

Q75 Given below is a statement followed by

two  arguments  numbered  I  and  II. You

have to decide which of the arguments  is

a strong argument.

Statement:

Should the private sector be permitted to

operate hospitals in India?

Arguments:

I. Yes, they are operated in advanced

western countries.

II. No, it is risky to put the hospitals in

private hands.

(A) Only argument I is strong

(B) Only argument II is strong

(C) Neither argument I nor II is strong

(D) Both arguments I and II are strong

Q73 ;fn nf{k.k&iwoZ] mRrj cu tkrk gS] vkSj
mRrj&iwoZ] if”pe cu tkrk gS vkSj blh
rjg lHkh fn”kka, cny tkrh gSa] rks nf{k.k
D;k gksxk\
(A) iwoZ
(B) nf{k.k&iwoZ
(C) nf{k.k&if”pe
(D) if”pe

Q74 vrqy mRrj dh rjQ 5 km dh nwjh rd
pyrk gS vkSj fQj nkbZa vksj eqM+dj 3 km

pyus ds ckn og fQj ls nkbZa vksj eqM+rk gS
vkSj 5 km pyrk gSA
vc og “kq#vkrh LFkku ls fdruh nwjh ij
gS\
(A) 3 km

(B) 4 km

(C) 5 km

(D) 13 km

Q75 uhps ,d dFku vkSj nks rdZ I vkSj II fn, x,

gSaA fu.kZ; ysa fd dFku ds laca/k es dkSu

lk@ls rdZ etcwr gS@gSaA

dFku %

D;k futh {ks= dks Hkkjr esa vLirkyksa dks

lapkfyr djus dh vuqefr nh tkuh pkfg,\

rdZ %

I. gk¡] os mUur if”peh ns”kksa esa lapkyfr

gksrs gSaA

II. ugha] vLirkyksa futh gkFkksa esa j[kuk

[krjukd gSA

(A) dsoy rdZ I etcwr gS

(B) dsoy rdZ II etcwr gS

(C) u rks rdZ I vkSj u gh rdZ II etcwr gS

(D) I vkSj II nksuksa rdZ etcwr gSaA
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Q76 Given below is a question followed by two

statements, I and II, each containing some

information.  Decide  which  of  the

statements  are  sufficient  to  answer  the

question.

The difference between father’s age and

son’s  age  is  21  years  now. What  is  the

present age of the son?

Statements

I. After five years, the ratio of father’s

age to that of the son would be 5:2.

II. The sum of father’s age and son’s age

after five years would be 66 years.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I alone or statement

II alone is sufficient.

(D) Both statements I and II together are

needed.

Q76 uhps ,d iz”u vkSj nks rdZ I vkSj II fn, x,

gSa] ftlesa dqN tkudkfj;ka “kkfey gSaA fu.kZ;

ysa fd iz”u dk mRrj nsus ds fy, dkSu ls

dFku dkQh gSaA

firk dh vk;q vkSj iq= dh vk;q esa 21 lky

dk varj gSA iq= dh orZeku vk;q fdruh gS\

dFku %

I. ikap lky ckn] firk dh vk;q vkSj mlds

iq= dh vk;q esa 5%2 dk vuqikr gksxkA

II. ikap lky ckn] firk dh vk;q vkSj iq=

dh vk;q dk ;ksx 66 lky gksxkA

(A) dsoy dFku I i;kZIr gSA

(B) dsoy dFku II i;kZIr gSA

(C) ;k rks dFku I ;k dFku II i;kZIr gSA

(D) dFku I vkSj II nksuksa i;kZIr gSA
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Q77 Find the number that follows in the given

series.

5, 12, 26, 54, 110, ?

(A) 222

(B) 111

(C) 224

(D) 220

Q78 Find the missing term in the given series.

7, 19, 43, 91, ?, 379

(A) 180

(B) 187

(C) 182

(D) 184

Q79 Which number would replace the question

mark in the given series?

9, 31, 97, 295, ?, 2671

(A) 890

(B) 889

(C) 887

(D) 885

Q80 Vikranth  is  thirty-second  from  top  in  a

class of 65 students. What is his rank from

the bottom?

(A) 33

(B) 34

(C) 32

(D) 30

Q81 Vani is sixth from the front end of a line

and Swathi is ninth from the back end of

the  line of girls.  If  there are seven girls

between Vani and Swathi, how many girls

are there in the line?

(A) 20

(B) 21

(C) 22

(D) 23

Q77 bl J̀a[kyk es vxyh la[;k dkSu lh gksxh\

5, 12, 26, 54, 110, ?

(A) 222

(B) 111

(C) 224

(D) 220

Q78 bl J̀a[kyk es ^\^ ds LFkku ij D;k vk,xk\

7, 19, 43, 91, ?, 379

(A) 180

(B) 187

(C) 182

(D) 184

Q79 bl J̀a[kyk es ^\^ ds LFkku ij D;k vk,xk\

9, 31, 97, 295, ?, 2671

(A) 890

(B) 889

(C) 887

(D) 885

Q80 65 Nk=ksa dh d{kk esa foØkar dk LFkku “kh’kZ

ls cRrhloka gS rks var ls mldk dkSu lk

LFkku gksxk\

(A) 33

(B) 34

(C) 32

(D) 30

Q81 yM+fd;ksa dh ykbu esa ok.kh vkxs ls NBs

LFkku ij gS vkSj Lokfr ihNs ls ukSosa LFkku

ij gSA ok.kh vkSj Lokfr ds chp esa lkr

yM+fd;ka gSa] rks iafDr esa dqy fdruh yM+fd;ka

gSa\

(A) 20

(B) 21

(C) 22

(D) 23

IQ
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Q82 Swarna is ranked sixteenth from the top

and sixth from the bottom of a class. How

many students are there in the class?

(A) 22

(B) 23

(C) 21

(D) 20

Q83 If the day before yesterday was Sunday,

what  day  will  fall  on  the  day  after

tomorrow?

(A) Friday

(B) Thursday

(C) Wednesday

(D) Monday

Q84 Friday was a holiday for Republic day. 15th

of  the next  month was  again  a  holiday.

What day was it on the 15th?

(A) Wednesday

(B) Friday

(C) Sunday

(D) Thursday

Q85 If SEISMO is written as TEJSNO,  then

how  would  EARTHD  be  coded  in  that

language?

(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

Q86 In a certain code, MASTER is written as

TBNSFU. How will DANCER be written

in that code?

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD

Q82 ,d d{kk esa Lo.kZ dk Åij ls lksygoka LFkku

gS vkSj uhps ls NBk LFkku gSA d{kk esa dqy

fdrus Nk= gSa\

(A) 22

(B) 23

(C) 21

(D) 20

Q83 vxj dy ds igys dk fnu jfookj Fkk] rks

vkus okys dy ds ckn dk fnu dkSu lk

gksxk\

(A) “kqØokj

(B) xq:okj

(C) cq/kokj

(D) lkseokj

Q84 “kqØokj dks x.kra= fnol ds volj ij Nqêh

FkhA vxys eghus dh 15 rkjh[k dks fQj ls

Nqêh dk fnu gS] bl 15 rkjh[k dks dkSu lk

fnu gksxk\

(A) cq/kokj

(B) “kqØokj

(C) jfookj

(D) xq:okj

Q85 ;fn fdlh dksM Hkk’kk esa SEISMO dks

TEJSNO fy[kk tkrk gS] rks mlh Hkk’kk esa

EARTHD dks fdl izdkj fy[kk tk,xk\

(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

Q86 ;fn fdlh dksM esa MASTER dks TBNSFU

fy[kk tkrk gS] rks mlh dksM esa DANCER

dks fdl izdkj fy[kk tk,xk\

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD
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Q87 In a certain code language CHICKEN is

written as DHJCLEO. How will FISHN

be written in that code language?

(A) FJSIN

(B) GITHO

(C) FISHO

(D) GISHO

Q88 The position of how many letters in the

word RAINBOW will remain unchanged

when  they are  arranged  in  alphabetical

order?

(A) One (B) Three

(C) Four (D) Two

Q89 Find out how many such pair of  letters

are there in the word RUST that have as

many letters between them in the word as

there  are  between  them  in  the  English

alphabet:

(A) One (B) Two

(C) Three (D) Four

Q90 Anu is Bali’s sister. Komal is Bali’s mother.

Dinu  is  Komal’s  father.  Ean  is  Dinu’s

mother. How is Anu related to Dinu?

(A) Mother

(B) Grandmother

(C) Daughter

(D) Granddaughter

Q91 Pointing to a chess player, a man said to a

woman, “His mother is the only daughter

of your father.” How is the woman related

to the chess player? 

(A) Grandmother

(B) Maternal aunt

(C) Paternal aunt

(D) Mother

Q87 ;fn fdlh dksM Hkk’kk esa CHICKEN dks
DHJCLEO fy[kk tkrk gS] rks mlh dksM
Hkk’kk esa FISHN dks fdl izdkj fy[kk tk,xk\
(A) FJSIN

(B) GITHO

(C) FISHO

(D) GISHO

Q88 RAINBOW “kCn ds v{kjksa dks o.kkZuqØe es
aO;ofLFkr djus ds ckn bl “kCn esa fdrus
v{kjksa dh fLFkfr vifjofrZr jgsxh\
(A) ,d (B) rhu
(C) pkj (D) nks

Q89 ;g crk,a fd fn, x, “kCn esa v{kjksa ds ,sls
fdrus tksM+s gSa] ftrus fd ml “kCn ds
lkFk&lkFk vaxzsth o.kZekyk esa Hkh mu nksuksa
ds chp esa vkrs gSaA
RUST

(A) ,d (B) nks
(C) rhu (D) pkj

Q90 vuq] ckyh dh cgu gSA dksey] ckyh dh eka
gSA nhuw] dksey dk firk gSA b;ku] nhuw dh
eka gSA rks vuq] nhuw ls fdl izdkj lacaf/kr
gS\
(A) eka
(B) nknh@ukuh
(C) csVh
(D) iksrh@ukfru

Q91 ,d “krajt f[kykM+h dks bafxr djrs gq,] ,d
vkneh us ,d efgyk ls dgk] ^^mldh eka
vkids firk dh ,dek= csVh gSA^^ efgyk
ml “krjat f[kykM+h ls fdl izdkj lacaf/kr
gS\
(A) nknh
(B) ekeh
(C) pkph

(D) eka
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Q92 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

Blacksmith : Anvil :: Carpenter : ______

(A) Axe

(B) Saw

(C) Spade

(D) Sword

Q93 Select the option that is related to the third

term in the same way as the second term

is related to the first term:

Gun : Shoot :: Chisel : ______

(A) arve

(B) Scoop

(C) Bore

(D) Dig

Q94 Study the following diagram and answer

the question that follows.

The following Venn diagram shows  the

result  of  a  survey of 1500 persons  in  a

city  with  respect  to  their knowledge  of

Kannada (K), Hindi (H) and Telugu (T).

How  many  people  know  exactly  two

languages?

(A) 150

(B) 300

(C) 400

(D) 450

Q92 fn, x, fodYiksa esa ls ml in dk p;u djsa]

tks rhljs in ls mlh izdkj lacaf/kr gS] ftl

izdkj nwljk in igys in ls lacaf/kr gS%

yksgkj % lanku % % c<+bZ % ____

(A) dqYgkM+h

(B) vkjh

(C) dqnky

(D) ryokj

Q93 fn, x, fodYiksa esa ls ml in dk p;u djsa]

tks rhljs in ls mlh izdkj lacaf/kr gS] ftl

izdkj nwljk in igys in ls lacaf/kr gS%

xu % “kwV % % Nsuh % ____

(A) uD+d+k”kh

(B) Ldwi

(C) lqjk[k

(D) [kqnkbZ

Q94 uhps fn;k x;k osu vkjs[k dUuM+ (K) fganh

(H) vkSj rsyqxq (T) ds Kku ds laca/k esa ,d

“kgj esa 1500 yksxksa ds losZ{k.k ds ifj.kke ds

ckjs esa tkudkjh nsrk gSA

dsoy nks Hkk’kk,a tkuus okys O;fDr;ksa dh

la[;k fdruh gS\

(A) 150

(B) 300

(C) 400

(D) 450
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Q95 Study the following diagram and answer

the question that follows.

The following Venn diagram shows  the

result  of  a  survey of 1500 persons  in  a

city  with  respect  to  their knowledge  of

Kannada (K), Hindi (H) and Telugu (T).

How  many  people  know  only  one

language?

(A) 1000

(B) 1050

(C) 50

(D) 400

Q96 Study the following diagram and answer

the question that follows.
The following Venn diagram shows  the
result  of  a  survey of 1500 persons  in  a
city  with  respect  to  their knowledge  of

Kannada (K), Hindi (H) and Telugu (T).

How  many  people  know  all  the  three

languages?
(A) 50
(B) 150
(C) 300
(D) 1050

Q95 uhps fn;k x;k osu vkjs[k dUuM+ (K) fganh

(H) vkSj rsyqxq (T) ds Kku ds laca/k esa ,d

“kgj esa 1500 yksxksa ds losZ{k.k ds ifj.kke ds

ckjs esa tkudkjh nsrk gSA

dsoy ,d Hkk’kk tkuus okys O;fDr;ksa dh

la[;k fdruh gS\

(A) 1000

(B) 1050

(C) 50

(D) 400

Q96 uhps fn;k x;k osu vkjs[k dUuM+ (K) fganh

(H) vkSj rsyqxq (T) ds Kku ds laca/k esa ,d

“kgj esa 1500 yksxksa ds losZ{k.k ds ifj.kke ds

ckjs esa tkudkjh nsrk gSA

lHkh rhu Hkk’kkvksa tkuus okys O;fDr;ksa dh

la[;k fdruh gS\

(A) 50

(B) 150

(C) 300

(D) 1050
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Q97 Study the following bar graph carefully

and answer the question that follows.

The bar graph shows information about

the  sales  of  wrist  watches  from  five

branches A
1
 , A

2
, A

3
, A

4
 and A

5
 of company

‘ABC’ in 2016 and 2017.

What is the ratio of total sales of branches

A
2 
and A

4
 for the year 2016 to the year

2017?

(A) 2 : 3 (B) 3 : 5

(C) 3 : 4 (D) 3 : 7

Q98 Study the following bar graph carefully

and answer the question that follows.

The bar graph shows information about

the  sales  of  wrist  watches  from  five

branches A
1
 , A

2
, A

3
, A

4
 and A

5
 of company

‘ABC’ in 2016 and 2017.

What  is  the  ratio  of  total  sales  of  all

branches for the year 2016 to 2017?

(A) 9 : 4 (B) 9 : 7

(C) 7 : 6 (D) 7 : 9

Q97 fn, x, pkVZ dk /;kuiwoZd v/;;u djsa vkSj
iz”uksa dk mRrj nsaA
ckj pkVZ esa 2016-2017 esa daiuh “ABC” dh
ikap “kk[kkvksa A

1
 , A

2
, A

3
, A

4 
vkSj A

5 
ls dykbZ

?kfM+;ksa dh fcØh ds ckjs esa tkudkjh nh xbZZ
gSA

o’kZ 2016 ls o’kZ 2017 rd “kk[kkvksa A
2 
, A

4

dh dqy fcØh dk vuqikr D;k gS\
(A) 2 : 3 (B) 3 : 5

(C) 3 : 4 (D) 3 : 7

Q98 fn, x, pkVZ dk /;kuiwoZd v/;;u djsa vkSj
iz”uksa dk mRrj nsaA
ckj pkVZ esa 2016-2017 esa daiuh ^^ ,chlh^^
dh ikap “kk[kkvksa A

1
 , A

2
, A

3
, A

4 
vkSj A

5 
ls

dykbZ ?kfM+;ksa dh fcØh ds ckjs esa tkudkjh
nh xbZZ gSA

2016 ls 2017 esa lHkh “kk[kkvksa dh dqy
fcØh dk vuqikr D;k gS\
(A) 9 : 4 (B) 9 : 7

(C) 7 : 6 (D) 7 : 9
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Q99 Choose  the  figure  that  is different  from

the rest:

(A) A

(B) B
(C) C
(D) D

Q100 Choose  the  figure  that  is different  from

the rest:

(A) A

(B) B
(C) C
(D) D

Q101 Choose  the  figure  that  is different  from

the rest :

(A) A

(B) B

(C) C

(D) D

Q102 Choose the option which is least like the

other words.

(A) Bitch

(B) Cow

(C) Vixen

(D) Bullock

Q99 ml vkÑfr dk p;u djas tks nwljksa ls fHkUu
gS%

(A) A

(B) B

(C) C

(D) D

Q100 ml vkÑfr dk p;u djas tks nwljksa ls fHkUu
gS%

(A) A

(B) B
(C) C
(D) D

Q101 ml vkÑfr dk p;u djas tks nwljksa ls fHkUu

gS%

(A) A

(B) B

(C) C

(D) D

Q102 ml “kCn dks pqusa tks lewg esa nwljs “kCnksa ds
leku ugha gS\
(A) dqfr;k
(B) xk;
(C) ykseM+h
(D) cSy
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Q103 Choose the option which is least like the

other words.

(A) Horse

(B) Tiger

(C) Lion

(D) Cheetah

Q104 Choose the option which is least like the

other words.

(A) Pressure

(B) Volt

(C) Newton

(D) Watt

Q105 Choose the figure which is different from

the rest.

(A) A (B) B

(C) C (D) D

Q106 Choose the figure which is different from

the rest.

(A) A (B) B

(C) C (D) D

Q107 Choose the figure which is different from

the rest.

(A) A (B) B

(C) C (D) D

Q103 ml “kCn dks pqusa tks lewg esa nwljs “kCnksa ds
leku ugha gS\
(A) ?kksM+k
(B) ck?k
(C) “ksj
(D) phrk

Q104 ml “kCn dks pqusa tks lewg esa nwljs “kCnksa ds
leku ugha gS\
(A) izs”kj
(B) oksYV
(C) U;wVu
(D) okV

Q105 ml vkÑfr dk p;u djas tks nwljksa ls fHkUu
gS%

(A) A (B) B

(C) C (D) D

Q106 ml vkÑfr dk p;u djas tks nwljksa ls fHkUu
gS%

(A) A (B) B

(C) C (D) D

Q107 ml vkÑfr dk p;u djas tks nwljksa ls fHkUu
gS%

(A) A (B) B

(C) C (D) D
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Q108 Count  the  number  of  squares  in  the

following figure:

(A) 24 (B) 26

(C) 30 (D) 32

Q109 Identify the mirror image of the following

figure.

(A) A

(B) B

(C) C

(D) D

Q110 How  would  the  following  transparent

sheet  appear  when  it  is  folded  on  the

dotted line?

(A) A (B) B

(C) C (D) D

Q111 A  box  can  be  formed  by  folding  the
following sheet as shown  in  the  figure.
Which letter would be on the face opposite

M?

(A) O (B) P

(C) Q (D) L

Q108 nh xbZ vkÑfr esa oxksZa dh la[;k fdruh gS\

(A) 24 (B) 26

(C) 30 (D) 32

Q109 uhps nh xbZ vkÑfr dh niZ.k Nfo D;k
gksxh\

(A) A

(B) B

(C) C

(D) D

Q110 tc bl ikjn”khZ “khV dks fcanh okyh js[kk
ij eksM+k tk,xk rks fdl izdkj dk iSVuZ
fufeZr gksxk\

(A) A (B) B

(C) C (D) D

Q111 fp= esa fn[kk, x, vuqlkj “khV ls ,d
ckWDl cuk;k tk ldrk gSA ckWDl esa M dh
foijhr lrg ij dkSu lk v{kj gksxk\

(A) O (B) P

(C) Q (D) L
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Q112 A  box  can  be  formed  by  folding  the
following  sheet  as  shown  in  the  figure.
Which letter would be on the face opposite

U?

(A) S

(B) W
(C) Z
(D) V

Q113 A  box  can  be  formed  by  folding  the
following  sheet  as  shown  in  the  figure.
Which sign would appear on the opposite

side of $?

(A) @

(B) 
(C) +
(D) ×

Q112 fp= esa fn[kk, x, vuqlkj “khV ls ,d
ckWDl cuk;k tk ldrk gSA ckWDl esa U dh
foijhr lrg ij dkSu lk v{kj gksxk\

(A) S

(B) W
(C) Z
(D) V

Q113 fp= esa fn[kk, x, vuqlkj “khV ls ,d
ckWDl cuk;k tk ldrk gSA ckWDl esa $ dh
foijhr lrg ij dkSu lk fpUg gksxk\

(A) @

(B) 
(C) +

(D) ×
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Q114 o.kksZa ds fdrus Hksn gSa\
(A) nl (B) lkr
(C) nks (D) vkB

Q115 fuEufyf[kr es als dkSu&lk “kCn L=hfyax gS&
(A) ekfyd (B) dgkj
(C) ikBd (D) ;ksfxuh

Q116 iqfYyax “kCn dk p;u dhft,&
(A) ukf;dk (B) ysf[kdk
(C) o/kw (D) /kkod

Q117 f”k{kd dk cgqopu gksxk&
(A) f”k{kdksa (B) f”k{kdk
(C) f”kf{kdk,¡ (D) f”k{kdx.k

Q118 ek¡ us ckt+kj ls diMk [kjhnkA js[kkafdr dk
dkjd crkb,A
(A) drkZ dkjd (B) dj.k dkjd
(C) deZ dkjd (D) vf/kdj.k dkjd

Q119 ;g esjh irax gSA js[kkafdr dk Hksn crkb,A
(A) fu”p;okpd loZuke
(B) vfu”p;okpd loZuke
(C) futokpd loZuke
(D) iz”uokpd loZuke

Q120 ^le>nkj^ “kCn fo”ks’k.k dk dkSu lk Hksn gS&
(A) lkoZukfed fo”ks’k.k
(B) la[;kokpd fo”ks’k.k
(C) ifj.kkeokpd fo”ks’k.k
(D) xq.kokpd fo”ks’k.k

Q121 ^ppkẐ  “kCn ls cuk fo”ks’k.k gS&
(A) ppkZ,¡ (B) pkpkZ
(C) pfpZr (D) p;kZ

Q122 ^/kkrq^ dgrs gSa&
(A) fØ;k ds ewy :i dks
(B) fØ;k ds lkekU; :i dks
(C) fØ;k ds mRre :i dks

(D) fØ;k ds laiw.kZ :i dks

Q123 Hkwrdky ds fdrus Hksn gSa\
(A) lkr (B) Ng
(C) ukS (D) pkj

Q124 rnHko “kCn cus gSa&
(A) fganh ds ewy “kCnksa ls
(B) fons”kh “kCnksa ls
(C) mnwZ “kCnksa esa cnyko ls
(D) laLÑr “kCnksa esa dqN cnyko ls

Q125 rRle “kCn igpkfu,&
(A) funzk (B) dku
(C) eksj (D) canj

Q126 i;kZ; “kCnksa dk dkSu&lk lewg lgh ugha gS\
(A) ikB”kkyk] fon~;ky;] Ldwy
(B) ukjh] efgyk] vkSjr
(C) igkM+] ioZr] iqLrd
(D) vkx] vfXu] vuy

Q127 buesa ls lgh foykse “kCn ;qXe dkSu&lk gS\
(A) vknku&iznku
(B) vknku&funku
(C) iznku&fonku
(D) vknku&lek/kku

Q128 ^vkSj^ “kCn ds vusdkFkhZ “kCn&lewg dk p;u
dhft,&
(A) vU;&mldk
(B) nwljk&rFkk
(C) lc&ijarq
(D) ijarq&viuk

Q129 ^tks dke djuk dfBu gkŝ  okD;ka”k ds fy,
,d “kCn fyf[k,&
(A) nq’dj (B) nwHkj
(C) dfBu (D) vlaHko

Q130 i{kh isM+ksa ij viuk ------------------- cukrs gSaA
lgh “kCn Hkfj,&
(A) uhj (B) uhe
(C) uhM (D) uhn

HINDI
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Q131 ^vuq^ milxZ ls cuk “kCn gS&

(A) vuqpj (B) vuqiek

(C) varj (D) vuqRrj

Q132 ^HkqyDdM+^ “kCn esa fdl izR;; dk iz;ksx gqvk

gS\
(A) Hkw (B) M
(C) vDdM+ (D) Hkwy

Q133 xhrkatfy dk lgh laf/k&foPNsn gS&
(A) xhrk$vU; (B) xhr$tyh
(C) xhrka$vatfy (D) xhr$vatfy

Q134 lHkh feydj Ldwy tkrk gSA &okD; dk “kq)
:i gksxk&
(A) lHkh feydj Ldwy x,A
(B) lHkh feydj lkFk Ldwy tkrs gSaA
(C) lHkh feydj Ldwy tkrs gSaA
(D) lHkh lkFk Ldwy tkrs gSaA

Q135 ^^jlksbZ?kj^^ esa dkSu lk lekl gS\
(A) vO;;h Hkko (B) rRiq#’k
(C) n~foxq (D) n~oU)

Q136 eSa [kkrk gw¡A&deZokP; :i gksxk&
(A) eq>ls [kk;k tkrk FkkA
(B) esjs ls [kk;k tkrk gSA
(C) eq>ls [kk;k ugha tkrk gSA
(D) eq>ls [kk;k tkrk gSA

Q137 eSa jkst+ i<+rk gw¡A&okD; esa fØ;k fo”ks’k.k dk
Hksn gS&
(A) LFkkuokpd fØ;k fo”ks’k.k
(B) jhfrokpd fØ;k fo”ks’k.k
(C) dkyokpd fØ;k fo”ks’k.k
(D) ifj.kkeokpd fØ;k fo”ks’k.k

Q138 fuEu esa ls ;kstd fpºu gS&
(A) \ (B) !
(C) & (D) @

Q139 ?kh ds nh;s tykuk & eqgkojs dk vFkZ gS&
(A) jks”kuh djuk (B) [kq”kh eukuk
(C) izlUu gksuk (D) ?kh ykuk

Q140 yksdksfDr dk lkekU; vFkZ gS&
(A) yksd dh mfDr (B) yksd dh ckrsa

(C) yksxksa ds ys[k (D) vPNh ckrsa

Q141 ped mBh lu lRrkou esa oks ryokj iqjkuh
FkhA&jl Hksn crkb,A
(A) HkfDr jl (B) ohj jl
(C) gkL; jl (D) J̀axkj jl

Q142 pkSikbZ ds izR;sd pj.k esa fdruh ek=k,¡ gksrh
gSa\
(A) chl (B) l=g
(C) ianzg (D) lksyg

Q143 dkyh ?kVk dk ?keaM ?kVkA&vyadkj crkb,&
(A) ;ed vyadkj
(B) miek vyadkj
(C) vuqizkl vyadkj
(D) :id vyadkj

iz”u la[;k 144 ls 148 dk mRrj fn, x,
xn~;ka”k ds vk/kkj ij nhft;s&

fo”o dh dksbZ Hkh ,slh lH;rk ugha gS] ftlus
ouksa ds ewY; dks u vk¡dk gksA ou fofHkUu
izdkj ds i”kq if{k;ksa rFkk izrkft;ksa ds fy,
,dek= vkJ; LFky Fks vkSj vkt Hkh gSaA ouksa
ds fujarj ?kVus ls buds laj{k.k dh vko”;drk
iM+hA vkt Hkh ou laj{k.k dh vko”;drk
igys tSlh gh cuh gqbZ gSA ouksa esa mxs isM+
ikS/ks gekjh bZa/ku dh leL;k dk lek/kku
djrs gSaA buls gesa bekjrsa] QuhZpj vkfn
cukus ds fy, dbZ izdkj dh ydfM+;k¡ izkIr
gksrh gh gSaA lkFk gh dkxt+ cukus ds fy,
dPph lkexzh Hkh miyC/k gksrh gS ijarq bUgsa
dkVus ds lkFk lkFk budk laj{k.k Hkh vko”;d
gSA isM+ ikS/ks o’kkZ djkus esa lgk;d cudj
i;kZoj.k dh j{kk djrs gSaA ogha buesa dkcZu
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MkbvkWDlkbM tSlh fo’kSyh xSl dks lks[kus
dh {kerk Hkh gksrh gS] ftlls gok esa xSlksa dk
larqyu cuk jgrk gSA ,slk djds os gekjh
iF̀oh dks lqjf{kr j[krs gSaA
i;kZoj.k dh lqj{kk ds lkFk lkFk gekjh flapkbZ
vkSj is;ty dh leL;k dk lek/kku Hkh ouksa
ds laj{k.k ls gh laHko gks ldrk gSA ouksa ds
dkj.k gh ufn;k¡ vius Hkhrj ty dh
vèr/kkj latksdj izokfgr gks jgh gSaA

Q144 ouksa dk ewY; vk¡dus dk vFkZ gS&
(A) ouksa dk egRo le>uk
(B) ouksa dks vR;f/kd dkVuk
(C) ouksa dks cspuk
(D) ou yxkuk

Q145 vkJ; LFky ls vfHkizk; gS&
(A) Hkkstu dk LFkku
(B) ?kweus dk LFkku
(C) jgus dk LFkku
(D) vkJe dk LFkku

Q146 ouksa ds laj{k.k ls vfHkizk; gS&
(A) ouksa dks dkVuk
(B) ouksa dks QSykuk
(C) ouksa dks lkQ+ djuk
(D) ouksa dks cpkuk

Q147 ou i;kZoj.k dh j{kk fdl izdkj djrs gS\
(A) rst gok,¡ pykdj
(B) Nk;k nsdj
(C) o’kkZ djkus esa lgk;d cudj
(D) ydM+h nsdj

Q148 ufn;ksa esa ty/kkjk fdlds dkj.k izokfgr gks
jgh gS\
(A) ouksa ds (B) /kjrh ds
(C) fdlkuksa ds (D) leqnzksa ds

Q149 ^^t;nzFk o/k^^ fdldh jpuk gS\
(A) t;”kadj izlkn
(B) eSfFkyh”kj.k xqIr
(C) lw;ZdkUr f=ikBh fujkyk
(D) lqfe=kuanu iar

Q150 ^vrhr ds pyfp=^ fdldh jpuk gS\
(A) egknsoh oekZ
(B) v;ks/;k flag
(C) fl;kjke “kj.k xqIr
(D) lw;Zdkar f=ikBh fujkyk
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ROUGH WORK / jQ dk;Z ds fy,
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fuEufyf[kr funsZa”kksa dks /;ku ls i<+sa %Read the following Instructions carefully :

1. Candidate shall not remove any page(s) from the Test

Booklet and if any page (s) is/are found mising from

his/her Test Booklet, he/she may be liable for suitable

action.

2. Out of  the  four alternatives for  each question, only

one  circle  for  the correct answer  is  to  be darkened

completely  with  Blue/Black  Ball  Point  Pen  on  the

OMR Answer Sheet. The answer once marked is not

liable to be changed

3. The candidates should ensure that the Answer Sheet

is not  folded. Do not make any  stray marks on  the

Answer Sheet. Do not write your Roll No. anywhere

else except in the specified space in the Answer Sheet.

4. Handle the Test Booklet and Answer Sheet with care,

as  under  no  circumstances  (except  for  discrepancy

in Test Booklet), another set will be provided.

5. The  candidates  will write  the  correct  Series  in  the

Attendance  Sheet  as  mentioned  in  his/her  Test

Booklet.

6. Each candidate must show on demand his / her Admit

Card to the Invigilator

7. No  candidate,  without  special  permission  of  the

Superintendent or Invigilator, should leave his / her

seat.

8. The candidates should not leave the Examination Hall

without  handing  over  their Answer  Sheet  to  the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not

to have handed over the Answer Sheet and dealt with

as an unfair means case.

9. Use  of  Pencil/Electronic/Manual  Calculator  is

prohibited.

10.The  candidates  are  governed  by  all  Rules  and

Regulations  of  the  Board with  regard  to  their  con-

duct  in  the  Examination  Hall. All  cases  of  unfair

means  will  be  dealt  with  as  per  Rules  and

Regulations of the Board.

11.After  Examination  is  over,  candidate  has  to  return

his Answer Sheet to invigilator. Invigilator will hand

over  the  Candidate’s  copy  to  candidate,  then  only

candidate  is allowed  to  leave  the examination hall.

Candidate is allowed to take away Test booklet and

Candidate’s copy of answer sheet.

1. ijh{kkFkhZ fdlh Hkh i’̀B@i’̀Bksa dks ijh{kk iqfLrdk ls
vyx ugha djsxkA ;fn dksbZ Hkh i’̀B mldh@mlds
ijh{kk iqfLrdk ls ykirk ik, tkrs gSa] og mi;qDr
dk;Zokgh ds fy, ft+Eesnkj gks ldrk gSA

2. izR;sd iz”u ds fy, fn, x;s pkj fodYiksa esa ls
lgh mÙkj ds fy, vks- ,e- vkj- mÙkj i= ij
dsoy ,d xksys dks gh iwjh rjg uhys@dkys cky
ikWbaV isu ls HkjsA ,d ckj mÙkj vafdr fd, tkus
ds ckn mls cnyk ugh tk ldrk gSA

3. ijh{kkFkhZ lqfuf”pr djsa dh mÙkj i= dks eksM+k u
tk, ,oa ml ij dksbZ vU; fu”kku u yxk,¡A
ijh{kkFkhZ viuk vuqØekad mÙkj i= es fu/kkZfjr

LFkku ds vfrfjDr vU;= u fy[ksaA
4. ijh{kk iqfLrdk ,oa mÙkj i= dk /;kuiwoZd iz;ksx

djsa] D;ksafd fdlh Hkh ifjfLFkfr esa (dsoy ijh{kk
iqfLrdk esa deh dks NksM+ dj) nwljh ijh{kk iqfLrdk
,oa mÙkj i= miyC/k ugh djk;k tk,xkA

5. ijh{kk iqfLrdk esa nh x;h lhjht+ dks ijh{kkFkhZ
lgh rjhds ls vius gkft+jh&i= (ATTENDANCE

SHEET)  es fy[ksaA
6. iwNs tkus ij izR;sd ijh{kkFkhZ] d{k vUrjh{kd dks

viuk izos”k i= fn[kk,A
7. v/kh{kd ;k d{k vUrjh{kd dh fo”ks’k vuqefr ds

fcuk dksbZ ijh{kkFkhZ viuk LFkku u NksM+sA

8. dk;Zjr d{k vUrjh{kd dks viuk mÙkj i= fn,
fcuk ijh{kkFkhZ viuk LFkku ugha NksMs+xsaA ;fn
fdlh ijh{kkFkhZ us gkft+jh&i= (ATTENDANCE

SHEET) ij gLrk{kj ugha fd, rks ;g ekuk tk,xk
dh mlus mÙkj i= ugh ykSVk;k gS vkSj ;g
vuqfpr lk/ku dk ekeyk ekuk tk,xkA

9. isfUly @bysDVªkWfud@gLrpkfyr ifjdyd dk
mi;ksx oftZr gSA

10.ijh{kk gkWy es vkpj.k ds fy, ijh{kkFkhZ cksMZ ds
lHkh fu;eksa ,oa fofu;eksa }kjk fu;fer gSA vuqfpr
lk/kuksa ds lHkh ekeyksa dk Q+Slyk cksMZ ds fu;eksa
,oa fofu;eksa ds vuqlkj gksxkA

11.ijh{kk ds mijkar vH;FkhZ mÙkj i=d d{k vUrjh{kd
dks ykSVk nsaA vUrjh{kd }kjk vH;FkhZ dks mÙkj
i=d dh vH;FkhZ izfr gLrxr djkbZ tk,xh rFkk
ftlds mijkar gh d{k dks NksM+us dh vuqefr nh
tk,xhA ijh{kk iqfLrdk rFkk mÙkj i=d dh
vH;FkhZ izfr vH;FkhZ dks vius lkFk ys tkus dh
vuqefr gSA
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